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SECTION: A

.| Explain the importance of Semiconductor Industry in India’s overall
industrial development. In what ways can the Indian Semiconductor Mission

(Imt'e‘cosystem for the industry? (10 marks, 150 words)
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.| What is/a “gig economy”. Explain why there are concerns over the growing| Candidates
number ig wor, in Indian economy? (10 marks, 150 words) must not
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. |Economic reforms, based on a balance between regulatory compliance and
e e | g

Ease of Doing Business, helps create successful partnerships with the private

sector. Discuss in the context of recent reforms intended towards Ease of
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.| “India is likely to account for 25% of global energy demand growth over the
next two decades”. In this scenario, how far will clean energy ensure
sustainable economic developme 2nt? (10 marks, 150 wor rds)
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M |

. |A proactive, empowerment-based approach which focuses on human capital| Candidates

formation is key to achieving inclusive growth and povertmmto'ﬁ must not
Discuss. (10 marks, 150 words) write on
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. | Changes are inevitable in the colonial-era infrastructure of Indian Railways

that not only looks shabby but also creates safety challenges for the
passengers. Explain. (10 marks, 150 words)
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.| The Goods and Services Tax (GST) was a landmark reform aimed at

simplifying the indirect tax system in India. However, there are ongoing
discussions about further reforms. Critically examine the impact of GST on
the Indian economy. (10 marks, 150 words)
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. | Elaborate how technological adv ent can be leveraged to improve the

effectiveness of land reform measures in India (10 marks, 150 words).
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10.

Climate change is posing a significant challenge to global food security. In
this context, discuss the potential of climate-smart agriculture (CSA).
Enumerate steps taken by the governmment in this regard (10 marks, 150
words)
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11.

SECTION: B

Why is it argued that India has been experiencing “jobless growth”? What
steps have been taken to address this issue? Suggest remedial measures to
create more jobs in the economy. (15 marks, 250 words) "
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12.

India continues to show resilience against the backdrop of a challenging
global environment, according to World Bank’s latest India Development
Update (IDU). Discuss. (15 marks, 250 words)
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13.

India’s remarkable pace of digitalization has significantly impacted the
country's economic growth, however challenges to inclusive participation in
the digital economy still persist. What measures can be adopted to make
digital economy more inclusive? (15 marks, 250 words)
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! " t1e of India’s industrial development.

Exxamine the role of PPP model in the development of multi-modal
connect1v1ty discussing the pros —and cons_of the model. (15 marks, 250
words)
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15.

“The past decade saw inequality dip with inclusive growth”. Analyze in light
of India’s experience.? marks, 250 words)
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16.

ADDwarf Memts whwth repie

What are the major issues plaguing India’s_manufacturing sector? Examine
how the groduction-Linked Incentive (PLI) scheme can contribute to the
development of India’s manufacturing. (15 marks, 250 words) _

B

Tedia s wnana=chirvg sector 3
&W& m%?ﬁﬁe (29}
(Bgaanst 307 [n 45 fSiz eronomey

ﬁ@%% J

(Diveted oty Stonetuse
%&w\@ e &,;;gkreabmfwn

7 o
¢
i

J{;b Ravse indastneg 0 ‘FQ‘?J/OW&
205 of Inertives £ et

COW\U;\M}\Z; = Missing mid 7@

¢ Economit S

Candidates
must not
write on
this margin



=

&Pno\w% Janleed dncontwe CF 1)

T 1 Sl

bo  Manucfactams

Positives

¢ & %
P -
T\ & LS
(%
& = §
W 7
®

() Lelf seliance ™ sectos

Fegnes

O How solecte] seetsrs Lirmit




@ e celected plomes .

o LI T
T

~ ¢ s —
v y e
A o ‘sz PL| b motc Sﬂﬂ

D o L ope” Corpeniéy
@‘ﬂPWwQ tn cehv-e o domeshc
Co e e




17.

multilateral trade and investment forums? What a
India in WTO negotiations? (15 marks, 250 wor d)
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19.

Critically analyze the proposal of legalizin ini
crops in India. Suggest alternative mechanisms to ensure farmer welfare and
incentivize agricultural production (15 marks, 250 words)
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20.

Discuss India's food processing sector's potential to improve farmers
incomes, create employment opportunities, and enhance nutritional
securityl Evaluate the key steps taken by the governme ent in this regard (15
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